RIMNFN_FRTIEFS 3 BE4TR

YR - 4 g
—. HESHAH.
28+17= 54 -+9= 62+7= 9 x 6= 8+3=
28+6= 3b=+6= 16+3= 7 x 4= 7T-+—4=
— BAIHE.
43+9= 37-+5= 60-+9= 62-+7=

=, B3
1. ¢ ) B KEHE/L?

5X ( ) <42 ( ) X 7<25 6X ( ) <38
() X9<65 TX () <44 70> ) X8
2. W ESWERH: ( ) +4=6......3 51+ ( ) =T......2
3 IERE A ( ) 3= 5o ( )7 BERR AR R ( ) /M ( Do
Ay YR RS, RIS T ), WREIEDLRE ¢ ), KR O D .
5. FAKBA LN, N XREH, AR w72 ) 7, Kl ( ) Fie

6+ (1) WEIHTEFLARIEN ( ), £ [ yem - —

Pl ¢ ) T | | |
(2) ¢ ) 7R S F  2 AE T SE BEH 1eiE &R
(3) NEHSEERER, Wk ¢ Ok B ) ERFIT.

T. /NEA 45 BRER, EAEE ( ) Wi, R 6 AN Bk ( ) B, W

A28 T AN

8. /N N N, NERFEHCE RGP IR R, IR AT AL, ARSI

( )AATE ( ) P TH 5
( ) HPEm 2 ( )
( ) FE ( ) [ARTH, AE ( ) HIEIH -




0. INEFIEERMPEALE, MAF 2% (O FRE, BCEEERRE () .
10, F SRR, 95— NITAZ, A NI AR S 5 . S5 6 Bl B ( )
W, 5 AT LR
SN P

1. AR 40 4 R AAMGEIT, RAGRAIRTR 8 A, BT B UM 4 i 2
RGNS 9 8, S REL AT

2. ~EESERA 65 T, AR 50 Tog. MEMPMACREMALE, ZORWTE. 1. &
ZReR LM LAY

HMLE
ER: 8§ TR
. TFR

3« NHIMZE NE TRl B, ARIHEBA BT B2, ANIHEESS 33 . AR 6 A, /D
W 2 3 5 T L2k i 2

4, H—HERZZFEHAK: OXAAOOXRAATOOXNAAO: -
B MG 1 ANEEREE 39 M EZON0? 200 %7 Z/040A? (af DLl —m, 51
H—5. )



